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PREFACE:

The ZUEB examination board acknowledges the serious problems encountered by the schools and
colleges in smooth execution of the teaching and learning processes due to sudden and prolonged school
closures during the covid-19 spread. The board also recognizes the health, psychological and financial
issues encountered by students due to the spread of covid-19.

Considering all these problems and issues the ZUEB Board has developed these resources based on the
condensed syllabus 2021 to facilitate students in learning the content through quality resource materials.

The schools and students could download these materials from www.zueb.pk to prepare their students
for the high quality and standardized ZUEB examinations 2021.

The materials consist of examination syllabus with specific students learning outcomes per topic,
Multiple Choice Questions (MCQs) to assess different thinking levels, Constructed Response Questions
(CRQs) with possible answers, Extended Response Questions (ERQs) with possible answers and
learning materials.

ACADEMIC UNIT ZUEB:
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1: Multiple Choice Questions:

The Multiple-Choice Questions with a stem, correct answer and 3 distractors or plausible wrong
answers format is designed to assess the content and thinking of students from; R (Remembering);
U(Understanding) and A (Applying, Analyzing, Evaluating, Creating). The questions are also classified
into three difficulty levels accordingly;D(DIFFICULT), M (MODERATE), E (EASY)

HOW TO ATTEMPT AN MCQ:
MCQ:
e EACH MCQ HAS FOUR OPTIONS, A, B, C AND D. SELECT ONE OPTION AS THE BEST ANSWER AND

FILL IN THE CIRCLE OF THAT OPTION, FOLLOWING THE INSTRUCTIONS GIVEN BY THE
INVIGILATOR.

USE BLACK PEN/PENCIL TO FILL IN THE CIRCLE.

Correct Way Wrong Ways

MCQ’S MATERIAL

AAB=

a. ANB

b. AUB

C. (AnB)—(AUB)
d. (AuB)—(ANB)

Theset offirst threeprime numbers is:
a) {2,3, 5}

b) {1, 2,3}

c) {1,3,5}

d) {1,2,7}

If x,y,zarereal number and x=y, y=zthen x=z,thepropertyusediscalled

Transitive
Trichotomy
Symmetric
Identity
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32 23 _

5° <5

a. 0

b. 1

C. 5

d. 25

Thecharacteristics of log 0.00396 is

@ 3

(b) 3

() 2

(d) 4

If log2 x =3 then x will be equal to:

a. 6

b. 15

c. 10

d. 5

Thenaturallogarithmhasthebase

a. T

b. e

c. 10

d. )0

7- V2y7+ V)=
47

a
b
c.
d

5

48
ThedegreeofpolynomiaI8x2y3—5x2y5—x3y7is
a. 5

b. 7

C. 3

d. 9

Thesqua rerootof(a—b)’is

a. +(a-b)

b. +(a—b)(a+b)

C. +(a+b)

d. noneofthese
TheL.C.Mof x3—y3andx6—y6is_
a) x3—y3

b) X+

C) xo4y°

d) Xs_ys
ax’+bx+c=0,willremainquadraticequation, if
a. a+0 andb =c=0

b. a=0 andb=0,cz0

c. a#0andc=0

d. Both(a)and(c)
Thesolutionsetof 2x+2=—3is

a. {}

. 1
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{3}
{31-3}
{21 -2}

d.

_53] and B = [_92 ;L] A+B =

2 —3]
14 5
[9 4
-2 7
(11 1]
L2 12
[ 7 —7]
—6 12

a.

C.

b.

d.

Eliminate“b”from a+3b = -1, a+b =3, then new relation is

a=5
b=5
b=0
a=3

a.
b.
c.
d.

Themeasureof eachangle ofan equilateraltriangle is

90°
45°
30°
60°

a.

b
C.
d

Thecomplement of40°is

60°
140°
90°
50°

a.

b.
C.
d

Thedistanceofanypoint of acircle from its centreis called its

Chord
Diameter
Tangent
Radius

a.

b.
C.
d.

SinB.Secb=

Tan®
CosO
CotB
CosecH
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a.

b
c.
d

1+tan’0=

Sec’0
Cot’0
Sin*0
tan’0

a.
b.
C.
d.

Atrianglehavingnoside congruentiscalled
triangle.

Isosceles
Scalene
Acute
Right

a.
b.
c.
d.

Sin30°=

Sin60°
Cos60°
Cos30°
Sin30°

a.

b.
c.
d

Theangle inscribedin a majorarcis

Acute
180°
Right
Acute

25.

26.

27.

28.

. {2,3,5,7,

(-5, -3) is in quadrant:

a) 1 b) 2ud 9)
log7x =2 then x is:

a) 14 b) 49 c)
The Cartesian product of set A and B is written as:
a) AAB b) A-B c)
log.81=4 Then x is:

a) 3 b) 4 c)
ix= y then value of x is:

a) (x)" b) )

. The nature logarithm has the base:

a) m b) e
} is the set of:
b)

Y43 , S is called:
a) index

(oK)

a) x+y

b) radicand

b) x—y

exponent

Vr+y

d) 4%
d) 128

d) BxA

d) 16

& 07
d) none of these

d) =

d) &

d) 0

d) none of these

d) Vx-\y
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An equilateral triangle each angle has:
a) 30° b) 45°
The reciprocal of cot9 is:

a)i

cosf

b) tand

The set of first three prime numbers is:
a) {1,2,3} b) {2,3,5}

If Vx =9 thenx =

a) 3

b) universal set
AsetA={2,3,5,7,11,
c) addition

Cosec (90 — 30) = Sec
a) 30°

A triangle having no side congruent is called:
a) right b) obtuse

R ={(2, -3), (2, 6), (2, 3)} the range of R is:
a) {3,6} b) {2}

Logarithmic form of 25 =32 is:

b) log232=5

b) null set

b) multiplication

a) lognS5=2
b) Cot 10°

b) 2

b) tanf

1
a) 5
Cos 20° =
a) cosec 70° b) tan70°
The value of Sin? 30 + Cos® 30 =

b) /3

b) 1 b) 0
Sin 30° X Cosec 30 =
c) 1 b) 0

Determinant of matrix is zero called:

d) unit matrix b) zero matrix

C)L

tanf

c) {1,3,5}

c) 81

A set which contains all the set under consideration is called:

c) sub set

} is closed with respect to:

c) division
) 60°

c) isosceles
c) {2,3}

c) logs32=2
c) Sin 80

c) 1

c) 3

¢) sin70°

c) \/54
c) \/34

c) identify

d) none of these

d) {2,3,7}

d) none of these
d) none of these
d) 90°

d) scalene

d) none of these

d) none of these

d) none of these

d) 0
d) sind
d 1
d) sin 20°
YV
Y Vi

d) singular
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a
. Order of {b ’ is:

a) 3x1
(Z—. is called:
L]

e) row matrix b) column matrix identify d) null

[a bl

. If t J, then ad - bc is called:
c d

f) entities b) elements determinant d) adjoint
. (A)'=

a) Al b A A d) none of these
. Ifloga 16 =4 then a=

a) 172 b) 2 d) 4
. Base of common logarithm is

a) 0 b) e d) none of these

. L.C.Mofx*—)* and x8—)° =
a) ¥’y b) *+3y3 HB+y d) x%—»°
. x*+ 64 can by made a perfect square by adding:
b) 4+ b) 16x° ; d) none of these
. L.C.M of 9x? and 15x is:
a) 24¢ b) 45¢ d) 135¢
(64)% =
a) 1 b) 2 d) 1/4
Vo5 =
a) 1 b) 3 d) 5
. 4x5°=
a) 0 b) 4 5 d) 20
Y35 is radicand:
a) 35 b) 3 d) 135
100° +20°+40° =
a) 0 b) 1 d) 3
Jx =9 thenx=
a) +3
. Cube of 3 is:
a) 3 b) 9
J75 =
a) 2543 b 53

a_%—s S

a) a® b) &°
. Symmetrical difference between 4 and B is:

a) 4-B b) B-4 A xB
. R={(1,2),(2,3), (3,4}, Domain of R:

a) {1,2,3} b) {2,3,4} {1,2,3,4} d) none of these
. Number of subsets of se can be find by formula:

a) 2" b) 2n 20’ d) 2°
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. Order pair (-3, 4) belongs to:
b) first quadrant
{2,3,5,7, } belong to:

a) odd number

b) second quadrant

b) even number
. Set of all sub sets of a set is called:

a) proper subset b) improper subset

80. If(x*+4x*-7x+3)+(x-1) then the remainder is
a) 10 b) 90

81 The solution set of 3x” — 10x = 0 is
a) {10} b) {10/3}
Iflog7x = 2 then x is:
a) 14 b) 128
Ifx+y=Sandx-y=>5 then 4xy=
a) 10 b) 25
HCF of 2* + b* and a’ - ab + b’ is
b) a+b b) a-b
The sum of two complementary angles is:
a) 180 b) 45 ¢) 90

If|A| = 0 then matrix is called:

¢) a®—ab+b

¢) Singular b) Non- Singular ¢) Square
The sum of two supplementary angle is:

a) 180° b) 45° ¢) 90°
The distance of any point of a circle to its centre called:

d) Radis b) Diameter ¢) Chord
Ifa+b=2and a-b=2 then value of a? - b*is:

e) 8 b) 6 c) 4

The characteristic of log 0.0026 is:

a) 3 b) 1

tan 60°=

f) b) V3

1
V3
1+tan*0=
a) sik20 b) cos20
The sum of angles of triangle is:
a) 360° b) 90°

¢) third quadrant

¢) natural number

c) power subset

d) fourth quadrant

d) prime number

d) none of these

d) 100

d) {0,103}

d) 64

d) 5

d) 2>+ 1’

d) 360

d) None of them

d) 360°

d) Tangent

d) None of them

d) cosec?0

d) 270°
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. L.C.M of 9x2 and 15x is:
a) 24x? b) 135x3

The degree of given polynomial 3V (a2 — b2)* is:
a) 3 b) 2 d)s
The solution set of |y — 3| =—4 is:
a) {-,2} b) {~,-2} {} d) {1, 3}
Vi-Sin2g=
a) sifl b) cos20 sik20 d) cod
The square root of (a — b)? is:
a) (a-Db) b) (a-b)(a-b) +a+Db) d) None of them
. If x=1andy =1 then value of x — y + xy will be:
a) 1 b) 0 d) -1
. x2 + 64 will be perfect square by adding:
a) 16 b) 16x* d 8
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